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1. Statistical method

1.1 The measure of agreement Kappa and percentage of test with the same test score

The measure of agreement kappa was calculated in the following way:

Let  n=Number of tests performed
f = Number of tests with the same test score
r1 = Number of tests with category 1 for the first test run
r2 = Number of tests with category 2 for the first test run
¢1 = Number of tests with category 1 for the second test run
¢2 = Number of test with category 2 for the second test run
po=1/f (observed proportion of tests with the same test scores)
pe = (rl*cl + r2*c2)/n*n (expected proportion of tests with the same test score)

Kappa=  (po-pe)/(1-pe)

The kappa could be interpreted in the following way:

<0.20 Poor agreement
0.21-0.40 Fair agreement
0.41-0.60 Moderate agreement
0.61-0.80 Good agreement
0.81-1.0 Very good agreement

The percentages of tests that gave the same test score was calculated in the following way:

Percentages of agreement = 100%*po

1.2 Overall agreement

ALCAT Test 1 and ALCAT Test 2 were analysed separately. All 50 tests for ALCAT Test 1
and all 50 tests for ALCAT Test 2 were pooled together for calculation of the overall
agreement. The measure of agreement kappa and the percentages of tests that gave the same
test score were calculated for both ALCAT Test 1 and 2 . Frequency tables including number
of tests and percentages of tests were produced for both ALCAT Test 1 and 2. The scores
used were Negative, Range 1+, Range 2+ and Range MPOS.

1.3 Overall reproducibility

ALCAT Test] and ALCAT Test 2 were analysed separately and pooled together. All 50 test
for ALCAT Test 1 and all 50 tests for ALCAT Test 2 were pooled together for calculation of
the overall reproducibility. The reproducibility was defined as follows:

A change of score which produce a +/- 1 range change will be considered reproducible. A
change score which produce a range change greater than +/- 1 1s considered non-reproducible.
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2. Results

2.1 Data sets analysed

Ten subjects where included in this study. One hundred tests were performed on each
subjects. All data from the ten subjects where included in the analyses. No missing data were
reported.

2.2 Overall agreement

The tables (2.2.1 —2.2.2) below shows the overall agreement for ALCAT Test 1 and ALCAT
Test 2. For ALCAT Test 1 gave 391 out of 500 tests (78%) the same test scores and the
measure of agreement kappa was 0.19. For ALCAT Test 2 gave 432 out of 500 tests (86%)

the same test scores and the measure of agreement kappa was 0.18.

Table 2.2.1: Overall agreement: ALCAT Test 1,

ALCAT Test 1

Negative |Range 1+ | Range 2+ Range MPOS | Total
Negative 375 (75%) |40 (3%) 7 (1%) 0 (0%) 422
Range 1+ 42 (8%) 14 (3%) 8 (2%) [0(0%) 64
Range 2+ 6 (1%) 5 (1%) 12(0.4%) 11 {0.2%) 14
Range MPOS |0 (0%) 0 (0%) 0(0%) 10(0%) 10
Total 423 59 17 1 500 (100%)
Table 2.2.2 Overall agreement: ALCAT Test 2.
ALCAT Test |

Negative | Range 1+ |Range 2+ | Range MPOS | Total
Negative 421 (84%) 136(7%) [2(0.4%) |0 (0%) 459 .
Range 1+ 24 (5%)  |1102%) |2(0.4%) [0(0%) 37
Range 2+ 2(0.4%) |1(0.2%) 10(0%) 0 (0%) 3
Range MPOS [0 (0%) 0(0%) |1(0.2%) [0(0%) A
Total 447 43 3 0 500 (100%)
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2.3 Qverall reproducibility

The Table 2.3.1 below shows the overall reproducibility for ALCAT Test 1 and
ALCAT Test 2. The overall reproducibility was 97 % for ALCAT Testl and 99 % for
ALCAT Test 2. For both tests together was the reproducibility 98 %.
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Table 2.3.1: Overall reproducibility for ALCAT Test 1 and ALCAT Test 2.

Test Reproducible Non Reproducible Tortal
ALCAT Test 1

487 (97%) 13 (3%) 500 (100%)
ALCAT Test 2

496 (99%) 4 (1%) 500 (100%)
Total

983 (98%) 17 (2%) 1000 (100%)

2.4 Agreement for each test
The tables (2.4.1 —2.4.100) below shows the agreement for ALCAT Test 1 and 2 divided by

each test.

Tahle 2.4.1: Agreement: Almond

ALCAT Test | | Negative |Range 1+ |Range2+ |Range MPOS |Total
Negative 1 [1 1 0 |3
Range |+ 2 [ 1 1 0 4
Range 2+ 0 |0 2 1 3
Range MPOS |0 10 0 |0 0

| Toal 13 |2 4 |1 | 10
Table 2.4.2: Agreement: Apple
ALCAT Test1 | Negative |Range 1+ |Range2+ |Range MPOS Tatal

| Negative 9 1 0 |0 10
Range 1+ 0 0 0 0
Range 2+ 0 |0 0 0 0

| Range MPOS [0 10 0 0 0

[ Total 9 |1 |0 0 10
Table 2.4.3: Agreement: Apricote
ALCAT Test 1 | Negative |Range 1t |Range2+ | Range MPOS Total
Negalive 7 0 0 0 7 |
Range 1+ 2 0 0 0 2
Range 2+ 0 1 0 0 1

| Range MPOS |0 0 0 0 Q
Total K L1 0 0 10
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Table 2.4.4: Agreement: Avacado
ALCAT Test 1 | Negative |Range |+ |[Range2+ |[Range MPOS | Total
Negative 9 0 0 0 9
Range 1+ |1 |0 0 0 1
Ranpe 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0
Total 10 0 |0 0 |10
Table 2.4.5: Agreement: Banana
ALCAT Test 1 | Negative |Range |+ |Range2+ |Range MPOS | Toual
Negative 10 0 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 |0 0 0 0
Range MPOS |0 0 0 0 0
Total 10 0 10 0 [ 10
Table 2.4.6: Agreement: Barley
ALCAT Test 1 | Negative lRange1+ Range 2+ | Range MPOS | Total
Negative l 8 |1 0 0 9
Range 1+ [0 1 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS |0 0 0 0 0
Toral 8 2 [0 0 10
Table 2.4.7: Agreement: Basil
ALCAT Test] | Nepative |Rangel+ |Range2+ |Range MPOS | Total
Negative |10 [0 0 0 10
Range |+ ] |0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS |0 0 |0 0 0

{ Total 10 10 0 10 10
Table 2.4.8: Agreement: Beef
ALCAT Test 1 | Negative i Range 1+ |Range2+ |Range MPOS | Toal
Negative 7 |0 0 0 7
Range 1+ 1 [1 1 a 3
Range 2+ 0 |0 0 0 0
Range MPOS [0 10 0 0 0

| Total B (1 1 0 [ 10

PAREXEL
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Table 2.4.9: Agreement: Beetroot
[ALCAT Test] |Negative |Rangel+ |Range2+ |RangeMPOS |Total
Negative 10 0 0 0 10
Range 1+ 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0
Total 10 0 0 0 10
Table 2.4.10: Agreement: Blueberry
ALCAT Test | | Negaive |Rangel+ |Range2+ | Range MPOS Total
Negauve 9 1 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 |0 0 0 10
Range MPOS 0 0 0 0 0
Toal |9 1 0 0 10
Table 2.4.11: Agreement: Broccali
ALCAT Test 1 | Negaiive |Rangel+ |Range 2+ Range MPOS | Total
Negative 4 |3 0 0 7
Range 1+ 2 |1 0 0 3
Range 2+ 0 10 0 0 0
Range MPOS 0 10 10 0 [0
Total B [ 4 10 0 m |
Table 2.4.12: Agreement: Buckwheat
ALCAT Test 1 | Negative |Rangel+ |Range2+ | Range MPOS | Touwl
Negative 10 Q0 0 0 10
Range 1+ |0 0 |0 0 0
Range 2+ |0 0 [0 |0 0
Range MPOS |0 0 0 |0 [0
Tol 110 0 0 10 [10
Table 2.4.13: Agreement: Cabbage
ALCAT Test | | Negative |Range I+ |Range2+ | Range MPOS | Total
Negative 8 1 0 1o 9
Range 1+ 1 0 0 0 i1
Range 2+ 0 | 0 0 0 )
Range MPOS__ [0 0 0 [0 0
| Toual 19 E 0 |0 10
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Table 2.4.14: Agreement: Honeydew

ALCATTest | |Negative |Range 1+ |Range2+ |Range MPOS |Total
Negative 3 |2 1 0 6
Range 1+ 2 10 1 0 3
Range 2+ 0 (1 0 0 1
Range MPOS 0 {0 0 0 0
Total |5 13 2 0 10

Table 2.4.15: Agreement: Goat’s milk

ALCAT Test1 | Negative |Rangel+ |Range2+ |Range MPOS | Total
Negative 10 0 0 0 10
Range 1+ 0 0 0 0 10
Range 2+ 0 0 0 0 10
Range MPOS 10 0 0 0 0
Total [ 10 0 0 |0 10

Table 2.4.16: Agreement: Carrot

ALCAT Test | | Negative |Rangel+ |Range2+ |Range MPOS |Toual
Negative 17 1 0 0 8
Range 1+ 1 1 0 0 2
Range 2+ 0 |0 0 0 0
Range MPOS [0 ) 0 0 0
Total 3 |2 0 |0 [ 10

Table 2.4.17: Agreement: Cashew

ALCAT Test 1 | Negative | Range 1+ Range 2+ |Range MPOS | Total
Negalive 3 0 0 0 8
Range |+ |2 0 0 0 2
Range 2+ 0 0 0 0 Q
Range MPOS 10 0 0 0 |0

| Total 10 10 0 0 110

Table 2.4.18: Agreement: Cauliflower

ALCAT Test 1 | Negative |Rangel+ |Range2+ |Range MPQOS | Total
Negatuve 3 0 0 0 8
Range |+ 2 0 0 0 2
Range 2+ 0 0 0 0 0
Range MPOS 10 0 0 0 0

| Total (10 0 0 0 10
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Table 2.4.19: Agreement: Celery

ALCAT Test ] |Negative |Rangel+ |Range2+ |Range MPOS | Total
Negative | 8 0 0 0 3
Range 1+ |1 |1 i0 0 2
Range 2+ [0 0 0 0 |0
Range MPOS 0 0 0 0 0
[Total 9 1 0 0 10
Table 2.4.20: Agreement: Chicken

ALCAT Test 1 | Negative |Rangel+ Rangea 2+ Range MPOS | Total
Nepalive 16 2 0 0 8
Range 1+ 0 0 1 0 1
Range 2+ ] |0 0 0 1
Range MPOS |0 |0 0 0 0
Tatal 7 |2 1 0 10
Table 2.4.21: Agreement: Cherry

ALCAT Test | | Negative |Range 1+ |Range2+ |Range MPOS |Toal
Negative 10 0 0 10 10
Range [+ 0 0 0 0 0
Range 2+ 10 0 0 0 0
Range MPOS 10 |0 0 0 0
Total |10 [0 0 |0 10
Table 2.4.22: Agreement: Cinnamon

ALCAT Test | ‘ Negative \ Range 1+ |Range2+ |Range MPOS |Toul
Negative 13 |2 0 0 IS
Range 1+ [3 |2 0 0 |5
Range 2+ 0 [0 0 0 |0
Rangs MPOS |0 0 0 0 0
Total 8 | 4 0 0 10
Tahle 2.4.23: Agreement; Candida Albican

TALCAT Test1 | Negative |Rengel+r |Rangel+ | Range MPOS | Total
Negative |5 1 0 0 6
Range 1+ B 2 0 0 4
Range 2+ 0 |0 0 0 0

| Range MPOS 10 0 0 |0 0

| Total 17 3 (0 10 10

PAREXEL

MEDSTAT
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Table 2.4.24: Agreement: Cocoa

ALCAT Test1 | Negative |Range 1+ | Ranpge 2+ Range MPOS | Total
Negative 2 3 2 0 7
Range 1+ 1 1 0 0 2
Range 2+ 1 |0 0 0 0
Range MPOS |0 0 0 0 [0
Total 4 4 |2 0 {10

Table 2.4.25: Agreement: Duck

ALCAT Test | |Negative |Rangel+ |Range2+ |Range MPOS | Taal
Negative 10 0 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 |0 0 0 0
Total 10 |0 0 |0 10

Table 2.4.26: Agreement: Cod

ALCAT Test ! | Negative |Rangel+ |Range2+ |RangeMPOS | Toral
Negative 9 1 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ |0 0 0 0 0
Range MPOS |0 |10 0 0 0
Tatal 9 |1 0 |0 |10

Table 2.4.27; Agreement: Coffee

ALCAT Test 1 | Negative |Rangel+ |Range 2+ |Range MPOS | Total
Negative 5 2 |0 0 7
Range 1+ |3 0 0 0 3
Range 2+ 0 0 0 0 0
Range MPQS | 0 0 {0 0 0

| Total |8 |2 o 0 10 |

Table 2.4.28: Agreement: Cola

ALCAT Test1 |Negatve |Rangel+ |Range2+ |Range MPOS Total
Negative 9 10 0 0 )

[ Range 1+ i o0 0 0 1
Range 2+ 0 [0 0 0 0
Range MPOS 10 10 0 0 0
Total E ' |0 0 10




w8/ 1999

12:049

FMeEYsiHI RebSeHRULH — FPHREXEL 2 byud(2L990298

STATISTICAL REPORT: 99072 FAGE 13 CF30
Table 2.4.34: Agreement: Egg
ALCAT Test | | Negative |Rangel+ |Range2+ |Range MPOS | Total
Negative 8 2 0 0 10
Range 1+ |0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 10 0 0 0 0
Total | 8 2 0 0 10
Table 2.4.35: Agreement: Garlic
ALCAT Test | |Negative |Rangel+ |Range2+ |Range MPOS | Toral
Negative 17 1 [0 0 R
Rangz 1+ 2 |0 0 |0 2
Range 2+ 0 0 0 0 0
Range MPOS |0 0 0 [0 0
Tol B 1 0 10 10
Table 2.4.36: Agreement: Salmon

ALCAT Test 1 | Negative |Range 1+ |Range2+ |Range MPOS | Total
Negative 8 10 0 [0 8
Range 1+ 2 [0 0 0 2
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 |0 |0
Total 10 0 0 [0 (10
Table 2.4.37: Agreement: Grape

[ALCAT Test 1 | Negative \ Range 1+ |Range2+ |Range MPOS | Total
Negative 19 {0 0 Q 9
Range 1+ 1 0 0 0 1
Range 2+ 0 0 o 0 0

| Range MPOS | 0 10 |0 0 |0

| Total [10 10 10 0 |10
Table 2.4.38: Agreement: Grapefruit

ALCAT Test 1 | Negarive |Rangel+ |Range2+ |Renge MPOS Total

|

Nepative 7 [1 1 0 {9
Range 1+ l 0 0 0 |1

| Range 2+ 0 0 |0 0 0
Range MPOS 0 i0 0 0 10
Toal E [ 1 0 110

NG. 2349
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Table 2.4.39: Agreement: Hazelnut
ir ALCAT Test 1 | Negative [Rangel+ |Range2+ |[Range MPOS | Total
Negative |19 0 0 0 9
Range 1+ 0 1 0 0 )
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0
Tetal 9 | 1 0 0 10
Table 2.4.40: Agreement: Hops
ALCAT Test | | Negative |Rangel+ |Range2+ |Range MPOS |Total
Negative 10 0 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 10 0 |0 0 0
Range MPOS [0 0 0 0 0
Toual 110 4] 0 0 10
Table 2.4.41: Agreement: Lamb
ALCAT Test | |Negative |Rangel+ |Range2+ |Range MPOS | Total
Negative g 2 0 0 10
Range 1+ o 0 0 0 [0
Range 2+ 0 0 0 0 [0
Range MPOS |0 0 0 0 )
Total 3 |2 0 0 |10
Table 2.4.42: Agreement: Lemon
ALCAT Test| | Negative |Range I+ | Range 2+ | Range MPOS | Toial |
Negative 0 0 0 8
Range 1+ 1 l 0 0 2
Ranegg 2+ (0 0 0 0 0
Range MPOS |0 0 0 0 0
Total |9 1 {0 0 10
Table 2.4.43: Agreement: Lettuce
ALCAT Test1 |Negative |Rangel+ |Range2+ |Range MPOS |Toral
| Negative 9 0 0 0 9
Range 1+ ! 0 0 0 l
Range 2+ 0 |0 0 0 0
Range MPOS |0 |0 |0 0 0
Total 10 o |0 0 10

PAREXEL
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Table 2.4.44: Agreement: Mushroom

AILCAT Test 1 | Nepative |Range 1+ |Range2+ Range MPOS | Total
Negative 10 0 |0 0 |10
Range 1+ 0 0 [0 0 0
Range 2+ |0 0 0 0 0
Range MPOS 0 0 0 0 0
Toual 10 0 0 0 10
Table 2.4.45: Agreement: Lobster
ALCAT Test | | Negative |Range l+ |Range2+ |Range MPOS |Total
Negative 10 0 0 0 10
Range 1+ 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0
Toal 10 0 0 0 10
Table 2.4.46: Agreement: Liver
ALCAT Test | |Negative |Rangel+ |Range2+ |Range MPOS |Total
Negative 2 1 10 0 3
Range |+ 1 0 3 0 4
Range 2+ 1 2 0 0 3
Range MPOS |0 0 0 0 0
Total 4 3 3 [0 10
Table 2.4.47: Agreement: Cow’ milk

| ALCAT Test | | Negative |Rangel+ |Range2+ |RangeMPOS | Total
Negative 3 i1 0 0 9
Range 1+ 1 10 0 0 1
Range 2+ 0 0 1] 0 10
Range MPOS | 0 0 10 10 |0
Total 9 1 | 0 |0 | 10
Table 2.4.48: Agreement: Millet
ALCAT Test | |[Negative |Rangel+ |Range2+ |Range MPOS |Total
Negative 7 3 0 0 10
Ranee 1+ 0 0 0 0 0
Range 2+ 0 0 |0 10 0
Range MPOS 0 0 0 0 0
Toral |7 3 0 0 10

PAREXEL
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Table 2.4.49: Agreement: Mustard
ALCAT Test | | Negative |Range 1+ |Range2+ |Range MPOS | Total
Negative | 2 2 0 | 5
Range 1+ 1 1 1 0 |3
Range 2+ 1 1 0 0 2
Range MPOS |0 [0 0 0 0
Total 3 | 4 3 0 10
Table 2.4.50: Agreement: Nutmeg
ALCAT Test | | Negative |Rangel+ |Range2+ |Range MPOS Total
Negatve 5 2 [0 0 7
Range 1+ 1 0 0 0 1
Range 2+ 2 0 0 0 | 2
Range MPOS 0 0 0 0 [0

{ Total | 8 2 0 0 [10
Table 2.4.51: Agreement: Oat
ALCAT Test 2 | Negative |Range 1+ |Range2+ | Range MPOS | Total
Negative 7 2 0 0 9
Range 1+ 0 1 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS |0 0 0 0 0
Total 7 3 |0 0 10
Table 2.4.52: Agreement: Caraway

ALCAT Test2 | Negative |Rangel+ | Range2+ | Range MPOS | Toeal
Negative 9 | 0 0 10
Range 1+ 0 [0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS |0 0 0 0

| Total 9 |1 0 0 10
Table 2.4.53: Agreement: Olive
ALCAT Test2 | Negative |Range 1+ |Range2+ |RangeMPOS | Touwl
Negative 10 0 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0

| Total 10 0 10 0 | 10

NG. 238
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Table 2.4.54: Agreement: Orange

ALCAT Test2 |Negative |Range 1+ | Range2+ |Range MPOS | Toual
Negative 9 0 0 0 9
Range 1+ 0 1 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0
Total 19 1 0 0 10

Table 2.4.55: Agreement: Oregano

ALCAT Test 2 |Negative |Rangel+ |Range2+ |Range MPOS |Total
Negative 10 0 0 0 | 10
Range 1+ |0 0 10 |0 0
Range 2+ 0 0 0 0 0
Rapge MPOS |0 0 0 0 |0

Toual 10 0 0 0 10 |

Table 2.4.56: Agreement: Mint

ALCAT Test 2 | Negntive |Range 1+ |Range2+ |Range MPOS | Total
Nemative 8 |1 0 0 |9
Range 1+ 1 10 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 Q 10
Toal 9 1 [0 0 (10

Table 2.4.57: Agreement: Paprika

ALCAT Test 2 |Negative |Range 1+ |Range 2+ |Range MPOS | Total
Negative 10 0 |0 0 10
Range |+ 0 |0 0 0 0
Range 2+ 0 0 0 0 [0
Range MPQOS 0 0 0 {0

[ Total 110 0 j0 |0 110

Table 2.4.58: Agreement: Peach

ALCAT Test2 |Negative |Rangel+ |Range2+ | Range MPOS | Total
Negative 10 0 0 0 10
Range |+ 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0
Total 10 |0 0 0 10
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Table 2.4.59:
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Agreement: Green pea

ALCAT Test 2 | Neeative |Range 1+ |[Range2+ |Range MPOS | Total
Negative 9 0 0 0 9
Range 1+ |1 0 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS |0 0 0 0 0
Total [10 4 3 0 10
Tahle 2.4.60: Agreement: Peanut

ALCAT Test 2 |Negative |Range 1+ |Range2+ |Range MPOS | Toral
Negative 2 |3 2 0 |7
Range |+ l 12 0 0 3
Range 2+ 0 0 0 0 0
Range MPOS 10 0 0 0 0
Toal I3 5 2 0 10
Table 2.4.61: Agreement: Pear

ALCAT Tes1 2 | Negarive |Rangel+ |Range2+ |Range MPOS | Toal
Negative {10 |10 0 0 [0
Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 10 0 0 0 0
Toral | 10 0 0 0 10
Table 2.4.62: Agreement: Lentil bean

ALCAT Test 2 | Negative ‘ Range 1+ |[Range2+ |Range MPOS |Toial
Negative 9 B 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 10 0 0 0 0
Range MPOS |0 |0 0 0 0
Total E |1 0 0 |10
Table 2.4.63: Agreement: White pepper

ALCAT Test2 | Negative |Rangel+ |[Range2+ | Range MPOS | Tatal
Negative 6 |2 0 0 2
Range 1+ 0 2 0 0 2
Range 2+ 0 0 0 |0 0
Range MPOS |0 0 0 0 0
Taal 6 | 4 0 0 10

PAREXEL
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Table 2.4.64: Agreement: Cayenne pepper

ALCAT Test 2 | Negaive |Rangel+ |Range2+ |Range MPOS |Total
Negative 10 0 0 0 10
Range I+ 0 0 1 0 0
Range 2+ 0 0 0 0 0

| Range MPOS |0 0 0 0 0
Total [ 10 |0 0 0 10
Table 2.4.65: Aereement: Pineapple

"ALCAT Tesl2 | Negative |Range 1+ | Range2+ |Range MPOS | Total
Negative 10 |0 0 0 10
Range 1+ 0 0 0 0
Range 2+ 2 0 ] 0 0
Ranga MPOS |0 0 0 |0 0

| Toal 110 |0 0 |0 10
Table 2.4.66: Agreement: Asparagus

ALCAT Tes12 | Negative |Rangel+ |Range2+ |Range MPOS | Total
Negative |7 10 0 0 7
Range 1+ i1 10 0 0 1
Range 2+ 1 1 0 0 2
Range MPQS 0 10 0 0 0
Total 9 |1 | 0 0 10
Table 2.4.67: Agreement: Raspberry

[ALCAT Test2 | Negarive i Range 1+ |Range2+ |Range MPOS | Tatal
Negative 8 | 0 10 19

| Range 1+ K 10 0 10 1
Range 2+ 0 10 10 0 0

| Range MPOS |0 |0 0 0 0

| Total 19 11 10 10 10
Table 2.4.68: Agreement: Plum

ALCAT Test2 | Negative |Rangel+ |Range2+ Range MPOS | Total
Nepative 19 1 0 0 10
Range |+ 10 0 0 |0 0
Range 2+ 0 0 0 |0 0
Range MPOS |0 0 0 0 0
Total (9 1 0 |0 10

PAREXEL
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Table 2.4.69: Agreement: Pork

ALCAT Test2 |Negative |Rangel+ |Range2+ |RangeMPOS |Total
Negative 8 0 0 0 3
Range 1+ ] 0 [1 0 2
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 |0 0
Total 9 [0 1 10 10

Table 2.4.70: Agreement: Malt

ALCAT Test 2 | Negative |Range 1+ |Range2+ |Range MPOS | Total
Nepative | 7 1 0 0 8
Range 1+ 2 0 0 |0 2
Range 2+ 0 0 0 |0 0
Range MPOS [0 0 0 0 0
Total 19 1 0 0 10

Table 2.4.71: Agreement: White potato

ALCAT Test 2 | Negative |Rangel+ |Range2+ |Range MPOS |Total
Negative 10 0 0 0 10

| Range 1+ 0 0 0

| Range 2+ 0 0 0 0 0

| Range MPOS |0 0 0 0 |0

| Tcal |10 0 0 0 |10

Table 2.4.72: Agreement: Brussel sprouts

ALCAT Tesi 2 | Negative |Range 1+ | Range 2+ | Range MPOS | Total
Negative 9 0 0 Q 9
Range 1+ ] 0 0 0 1
Range 2+ 0 10 0 0 0
Range MPOS |0 0 0 (] 0
Total 10 0 10 0 10

Table 2.4.73; Agreement: Rice

ALCAT Test 2 | Negative |Rangel+ |Range2+ |RangeMPOS | Total
Negative 8 1 0 0 |9
Range |+ 1 0 0 |0 1
Range 2+ 0 0 0 |0 0
Range MPOS |0 |0 0 0 0
Toral 9 [1 0 0 | 10
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Table 2.4.74: Agreement: Rye

ALCAT Test 2 | Negative |Range 1+ | Range2+ |Range MPOS | Tatal
Negatlive 3 2 0 0 (10

| Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS {0 0 |0 0 0
Total 3 2 To 0 10
Table 2.4.75: Agreement: Dill

ALCAT Test 2 | Negative |Range 1+ |Range2+ |Range MPOS |Total
Negative 10 0 0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 |0 0 0
Total |10 0 10 0 10
Table 2.4.76: Agreement: Sesame

ALCAT Test 2 | Negative |Range 1+ |Range2+ | Range MPOS | Total
Negative 7 2 0 0 19
Range 1+ 1 0 0 0 1
Range 2+ |0 0 0 0 0

| Rangz MPOS |0 |0 0 0 0

| Total | 8 |2 0 0 10
Table 2.4.77: Agreement: Shrimp

ALCAT Test 2 | Negative |Range 1+ |Range2+ |Range MPOS 1 Toral
Negative 9 K 0 0 [10
Range 1+ 0 |0 0 0 10
Range 2+ 0 |0 0 0 )
Range MPOS [0 |0 0 0 [0
Total |9 |1 0 0 |10
Table 2.4.78: Agreement: Herring

ALCAT Test2 |Negative |Range 1+ |Range2+ |Range MPOS | Total
Negative I 6 |3 0 0 9
Range 1+ 11 |10 0 0 )|
Range 2+ {0 (0 0 0 0
Range MPOS |0 0 0 0 0
Total 7 3 |0 0 10
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Table 2.4.79: Agreement: Sole

ALCAT Test 2 | Negative |Range 1+ |Range2+ |Range MPOS | Total
Negative 19 |1 0 0 10
Range 1+ |0 0 0 0 0
Range 2+ 10 0 0 0 0
Range MPOS |0 0 0 0 0
Total 19 il 0 0 10
Table 2.4.80: Agreement: Soyabean

ALCAT Test2 |Negative |Rangel+ |Range2+ |Range MPOS | Total
Negative 10 0 0 0 10
Range 1+ 0 |0 0 0
Range 2+ 0 0 10 0 0
Ranez MPOS |0 0 0 0 0
Total 10 0 0 0 [10
Table 2.4.81: Agreement: Spinach

ALCAT Test 2 | Negative |Rangel+ |Range2+ Range MPOS | Tatal
Negative |10 0 o 0 10
Range ] + 10 0 |0 0 0
Range 2+ 10 0 0 0 0
Range MPOS [0 0 0 0 0
Toral |10 |0 0 0 10
Table 2.4.82: Agreement: Courgette

ALCAT Test 2 | Negative |Rangel+ |Range2+ |Range MPOS | Tatal
Negative | 8 1 0 0 9
Range 1+ [} 0 0 0 1
Range 2+ 0 |0 0 0 0
Range MPOS |0 0 |0 0 (0
[ Total 9 I 0 0 (10
Table 2.4.83: Agreement: Strawberry

ALCAT Test2 | Negauve |Rangel+ Range 2+ | Range MPOS | Total
Negative 10 0 10 0 10
Range 1+ 0 |0 0 0
Range 2+ 0 |0 0 0 0
Range MPOS 0 0 0 0 0 |
Total |0 0 0 0 10
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Table 2.4.84: Agreement: String bean

Al CAT Test2 |Neganve |Rangel+ |Range 2+ Range MPOS | Total
Negative 9 0 0 0 9
Range 1+ 1 0 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0
Total 10 0 0 0 |10
Table 2.4.85: Agreement: Sugar beet
ALCAT Test2 | Negative |Range 1+ |Range2+ |Range MPOS | Total
Nepative (10 0 [0 0 10
Range 1+ 0 0 |0 0 0
Range 2+ 0 0 10 0 0
Range MPOS [0 0 |0 10 0
Toral [ 10 10 |0 |0 | 10
Table 2.4.86: Agreement: Sugar cane
ALCAT Test 2 | Negative |Range 1+ | Range 2+ Range MPOS | Toual
Negative 5 1 0 0 6
Range 1+ 1 3 0 0 4
Range 2+ |0 0 0 0 0
Range MPOS [0 0 [0 0 0
Total 6 [4 [0 0 10
Table 2.4.87: Agreement: Sunflower
ALCAT Test2 | Negative |Range 1+ |Range2+ |Range MPOS |Total
Negative 9 0 0 0 9
Range 1+ 0 0 0 0 0
Range 2+ |0 0 0 0 0
Range MPOS |0 |0 1 0 l
[ Total 9 0 I 0 10
Table 2.4.88; Agreement: Tea
ALCAT Test2 | Negative |Range 1+ |Range?2+ |Range MPOS |Toral
Negative 9 0 10 0 9
Range 1+ 1 0 0 0 1
Range 2+ 0 0 0 0 0
Range MPOS 0 ] 0 0 0
Total 10 10 0 0 | 10
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Table 2.4.89; Agreement: Tomato
ALCAT Test 2 | Negative |Range 1+ Range 2+ Range MPOS | Total
Negative 4 |4 0 0 8
Range 1+ |2 0 0 0 2
Range 2+ |0 0 0 0 0
Range MPOS 10 0 0 0 0
Total | 6 4 0 0 10
Table 2.4.90: Agreement: Trout
ALCAT Test 2 | Negative |Rangel+ |Range2+ |Range MPOS |Total
Negative 10 |0 0 0 10
Range 1+ 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0

| Total 10 [0 0 |0 10
Table 2.4.91: Agreement: Aubergine
ALCAT Test 2 |Negative |Rangel+ |Range2+ |Range MPOS |Toal
Negative 7 1 10 0 8

{ Range 1+ 2 0 |0 |0 2

( Range 2+ 0 0 10 0 0

| Range MPOS [0 0 0 0 0

[ Total B 1 0 10 10
Table 2.4.92: Agreement: Tuna

| ALCAT Test2 |Negative |Range 1+ |Range2+ |Range MPOS | Total
Negative 9 1 |0 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 0
Range MPOS |0 0 0 0 0
Total 9 |1 |0 0 |10
Table 2.4.93: Agreement: Turkey
ALCAT Test2 | Negauve |Rangel+ |Range2+ Range MPOS | Towal
Negative | 10 0 |0 0 0
Range 1+ |0 0 0 |10 0
Range 2+ 10 Q 0 0 0
Range MPOS [0 ) 0 0 |0

| Total |10 4] 0 0 | 10
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Table 2.4.94: Agreement: Vanilla

ALCAT Test2 |Neganve |Rangel+ |Rangs2+ |Range MPOS | Tatal
Negative 10 10 0 0 10
Range 1+ 0 10 0 0 0
Range 2+ 0 10 0 0 0
Range MPOS |0 |0 0 0 0
Total 10 |0 0 0 10
Table 2.4,95; Agreement;: Walnut
ALCAT Test2 |Negarve |Rangel+ |Range2+ |Range MPOS |Total
Negative |8 2 10 0 10
Range 1+ 0 0 0 0 0
Range 2+ 0 0 0 0 |0
Range MPOS |0 0 |0 0 ]
Total '8 2 |0 |0 | 10
Table 2.4.96: Agreement: YWatermelon

ALCAT Test2 |Negative |Range 1+ |Range2+ |RangeMPOS |Taal
Negative | 10 |0 0 |0 10
Range 1+ |0 0 ) |0 0
Range 2+ 0 0 0 [0 0

| Range MPOS _ (0 0 10 10 0

| Toual |10 10 10 0 10
Table 2.4.97: Agreement: Wheat

ALCAT Test 2 | Negative t Range |+ |Ranpe2+ |Racge MPOS | Total
Negative 10 |0 a 0 | 10
Range 1+ 0 0 0 0 0
Range 2+ 0 |0 |0 0 0
Range MPOS |0 0 [0 0
Total |10 0 10 10 10
Table 2.4.98: Agreement: Baker’s yeast
ALCAT Test 2 | Negative i Range 1+ |Range2+ |Range MPOS |Total
Negative | 9 10 0 0 9
Riange 1+ il ‘0 0 0 |1
Range 2+ |0 [0 0 0 |0
Range MPOS |0 0 0 0 10
Total 10 0 0 0 10
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Table 2,4.99: Agreement: Brewer’s yeast

ALCAT Test2 |Negative |Range 1+ |Range2+ |[Range MPOS |Total |
Negative 4 l 0 0 3
Range 1+ 2 2 0 0 4
Range 2+ 1 0 0 0 1
Range MPOS |0 0 0 0 ]

Taotal 7 3 0 0 |10

Table 2.4.100: Agreement: Onion

ALCAT Test 2 | Negative |Range 1+ |Range2+ |Range MPOS |Total
Negative 6 2 0 0 8
Range 1+ 1 0 1 i} 2
Range 2+ 0 0 0 0 0
Range MPOS 0 0 0 0 0
Total 7 2 1 0 10
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2.5 Reproducibility for sach test

The tables (2.5.1 —2.5.2) below shows the reproducibility for ALCAT Test 1 and 2 divided
by each test. For ALCAT Test 1 was the reproducibility 100% for 42 out of 50 tests and for
ALCAT Test 2 was the reproducibility 100% for 47 out of 30 tests.

Almond, honeydew, chicken, grapefruit, liver, asparagus and brewer’s yeast had a
reproducibility of 90 %, nutmeg and peanut a reproducibility of 80 % and coca and mustard a
reproducibility of 70%

Table 2.5.1: Reproducibility: ALCAT Test 1

Test Reproducible | Non Reproducible | Total
Almond 9 1 10
Apple 10 0 10
Apricot 10 0 10
Avocado 10 0 10
Banana | 10 0 10
Barley 10 0 10
Basil 10 0 10
Beef 10 0 10
Beetroot 10 0 10
Blueberry 10 10 10
Brocceoli 10 10 10
Buckwheat 10 |0 | 10
Cabbage 10 0 10
Honeydew 9 1 10
Goat's milk 10 0 10
Carrot 10 0 10
Cashew [ 10 0 10
Cauliflower 10 0 10
Celerv 10 0 10
Chicken 9 |1 110
Cherry 10 0 10
Cinnamon 10 0 10
| Candida albican | 10 0 10
| Cocoa i 3 10
Duck 10 0 10 |

Continue
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Table 2.5.1: Reproducibility: ALCAT Test 1

Test | Reproducible | Non Reproducible | Total
Cod |10 0 10
Coffee 10 0 10
Cola 10 0 10
Comn 10 10 10
Chili pepper 10 0 10
Crab 10 0 110
Cranberry 10 0 10
Cucumber 10 |0 10
Egg 10 0 110
Garlic 10 0 10
Salmon 10 0 10
Grape 10 0 10
Grapefruit 9 |1 10
Hazelnut 10 10 10
Hops 10 [0 10
Lamb 10 |0 | 10
Lemon 10 |0 10
Lettuce 10 10 10
Mushroom 10 0 10
Lobster 110 0 10
Liver 9 1 10
Cow’s milk 10 0 10
Millet 10 0 10
Mustard 7 3 10
Nutmeg 8 2 10
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Table 2.5.2: Reproducibility;: ALCAT Test 2

Test Reproducible | Non Reproducible | Total
Oat 10 0 10
Caraway 10 0 10
Olive 10 0 10
Onion 10 0 10
Orange 10 0 10
Oregano 10 0 10
Mint 10 0 10
Paprika 10 0 10
Peach 10 0 10
Green pea 10 0 10
Peanut 3 2 10
Pear 10 0 10
Lentil bean 10 0 10
White pepper 10 0 10
Cayenne pepper 10 0 10
Pineapple 10 0 | 10
Asparagus 9 1 |10
Raspberry 10 0 |10
Plum 10 0 |10
Pork 110 0 10
Malt 110 0 10
White potato 110 0 110
Brussel sprouts 10 0 10
| Rice 110 0 10
[Rye 10 0 [10

continue
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Table 2.5.2: Reproducibility; ALCAT Test 2

| Test Reproducible | Non Reproducible | Total
Dill 10 0 10
Sesame 10 0 10
Shrimp 10 0 10
Herring 10 0 10
Sole 10 0 10
Soybean 10 0 10
Spinach 10 0 10
Courgette 10 0 10
Strawberry 10 0 10
String bean 10 10 10
Sugar best 10 0 10
Sugar cane 10 0 10
Sunflower 10 0 10
Tea 10 0 10
Tomato 10 0 10
Trout 10 0 10
Aubergine 10 0 10
Tuna 10 0 10
Turkey 10 0 10
Vanilla 10 0 10
Walnut [10 0 10
Watermelon 10 0 10
Wheat 10 0 10
Baker’s yeast 10 0 10
Brewer’s yeast 9 1 |10




